year for $6.43
would my
pay a $10

1. If | purchased 200 Shares of General Electric Stock earlier this
per share and sold them today at the current stock price what
capital gain or my capital loss be? Keep in mind that | have to
commission for each trade that | make!
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2. | currently own 150 shares of Verizon. According to their records,
they are supposed to pay their annual dividend at the end of the month.
\.r/:"/ How much should | be expecting to receive through their dividend
mﬂmﬂ distribution?
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3. At the beginning of the year | purchased 100 Shares of Uber. After
seeing that the stock is up so much in the past couple of weeks, |
decide that | want to sell half of my shares. What is my capital gain? o
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S“ﬂp l[“:- 4. 1f | purchased 250 Shares of Snap Inc. Stock earlier this year for $21.17



per share and sold them today at the current stock price what would my
capital gain or my capital loss be? For this example, pretend | have a $5
commission to pay for each trade.
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5. I currently own 250 shares of IBM. According to their records, they o — —
are supposed to pay their annual dividend at the end of the year. — — i — -
How much should | be expecting to receive through their dividend — — — —
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distribution?
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6. Pre-Pandemic | purchased 100 Shares of American Airlines for $25 per
share. After deciding that the demand for flights might be down for the
foreseeable future, | decided to sell my shares and invest in something else.
What is my capital gain or loss?
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